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SECTION — A

_ 1Quesl Choose the correct answer
W Factorisation  of .,b\’—8l IS
@ =D p+D by (p-D(p+DP*+9)
() @—3>L Qp-)- 3)1— @) none. of thece
(1) The. solution of the bair ol liner egua‘f/'on:
2%=Y =5 and s5x-Y =1 jc
Y g
(@ x.:-—l;ld-—:z_ (b) x_=2,,(y=—l
(e> =0 ,Yy=-5 (ol)x,=.5.,,‘4:o
g 7 ol

(iii) The. sum of dus natural numbeps < 2Yn
and. their ratiec 3:5 . Thon the gnoalrer Number is
(o) 180 (b)) 160 (c) 150 (d) 9o

(v TP logb (0:04) =, then the value of x i

(a) 2 (b Y (D =Y (d) -2

(v) T¢ the Vnﬂuvm 0£ A _Cube. |s 729m then

its surdace area (s

(@) YBG cyn> (b) 32Y em*-
() 162 cm> (d) None. of these.




wid) T¢ cosp = Y , then the value of ZanA is
5

(@ 3 b) 3 (e ‘f d) s

5 4 3
Vll) ITn the admmmo vgl‘iufe = s
the V/Loue 0£ sec P i_c' / /I
e Y
COMNPS b)) |3 P —
|13 />
(2 5 d) 5
1> /3
Wiid The value of day> 30°—Y <cin*Y5° s
(a) 1 (b) 7 (c) -5 (d) =11
3 3 3

4'\

1) The. bomf-f whose abscisca, and  ardinate

f\a\/e, d:#eren‘f Slgqm will Die jn

(a) | and Il 2uadmnb (6D Il _and 1)) gudw{mnb

() | and I guadmni‘f (d) | and 1V guaa/ranff

(X) Meclion ot the numbers Y4 57,6 2 7,3 |o

IIIIII

s (a) Y (b) 5 (> & d) 7

Ke! - Solyi ; esuations

A __unigue.  solution x =Y, y=3.

o_pair okt L eﬁua}mm is substitutson .

(a (ﬂ) 1S 1'214414 (R) is ﬁaﬁre_

Yx- 5y =] , A4ty =% Simuﬁfaneau:%_,_&g;éer\
d O
Reop.s Qn/ (R) ¢ One of the method: of a.émgf?

(L) (A i Mse (R) is true

(c) Both (A) and (R) are true

(d)_ Both (A) and (RY are folse




Assertion(A) :
(XiD_Run: scored b 5 3
wh:ja runs SCOY‘QL/ bL batsman B are. 81 8? 74, 92 .

Then & bac ﬂua)‘{er mnﬁm than
| Reason(R): Ranaa js the d:fferenoe batu&ie‘b___

maU imum mm/ fr\/mmum MM&LQ{LMQELQA_/&——

(e
(&)
()
d)

(xiii) A he B(z
and ¢ (5,5> are lomeo/, then AHBC is r:agt amM

_ | Reason (RY : T4 = AR*+ BC™, then <R =40
(@
(b
(D
(d)

.a\
ru>cr1;10nu
(le Y The voXume me a a,J:mmL havmél /anH)

bre,a.dfh anol r}bcwmhaﬁ, ad Ym, 3Im arw/ l3m i

1Yy m?3

Rensen (R)' Lenfnf}) ad cba,{’,orwl mea, cubaid [

ML +b*+A%

@

(k)

(e

(d)

___@_\[.)__ZE& mean Of —-l) ()14—)) (X+3>a)m/(x+5)

(55

(@) x+] () x+2 ,_[c)x-.e:g (d) x+Y




—1Ques2

&) Use qm,J:h e thic 2ugs£/on

——

'¢to4ra

ﬁkﬂﬁgfgw for the :ﬁoﬂowinaq Ada : -

___Qh_wee:)

Weekﬂaqearn;yqu 150-165 165-180 1Bo—195 195-2Jo 2/0-225

Na- of workers 8 Iy 22 ]2 .5

(1D Shous that the ,br))h{,'f QCBI DD; 8(“//.5) anol.

CLAD |, D (—2.-D taken in order are. the

Ver-l-imr m4 a rhnmbu_f. ﬂjja jrno[ ‘Hte area. af

the rhombuc.

Cﬁ}m. Area = 2Y 59 yn/ts]
lyen ﬁimre,.
ARC i< an icoscelos _m‘éﬂt anglod §
fri"angﬁa with £ ARc =90° § \
A semi~circde is dvawn  with N \

AC n¢ diameter .I{ AR :BC_:;CM/ %
lind. the area of the shadedl

haéigm - @_alce 5T = 2}2./\ CﬂnsJ_ggij‘

Rues3

(i) MLMMMLML_%&\
9 £9. uniﬁr,jf its -Ze_njﬂx is reduce

a by B il

K u(r{/'rf-.r Tk
we _increare. the length by 3 unitr gnd the

breadth by 2 units, bbb e gt is increasel.

55 67 SZ-G-UMI'ILJ' Cind the dimenSione Al b

fpafahgﬁe. rﬁ-n_c ﬂ:li}cmq

b-‘?-C_)ny..J




(1> _Factorice (@ 33— 12 (a—b>)*
(b x3— 3x2—-> + 3

_@Jiz_liie__gm}zb_#ajzzt_ﬁr_fhb__gué: tion

Draus the am./p}q 0f Yx-— 2y O _and 2>¢+3v_}&

Take ey =1 umi on_both axp_c thM_—_,
three }yom'bs ber ine..
Waite dnwh ‘lfhp (,fmm{xnmLes Odg the bolnf a—/

____IL{:Q):&L(JH_OA._ ¢ o - —

SECTION R

_ Quection Yy
(> It tan8 = 5 ;-ﬂinoL cecl + cosec — tanl
12

(i) In the adipining aemurp
ABCD js a spuared o4 s:alp
1M e and Sem:—uwﬁp are.
drnmh (nl'H'\ Pﬁah Smlp of
the sguare as diameter.

Gind. 'qu area, o'lg'Hm shapleol.

/Mﬁﬂ}'n ) [ﬁn:. 8Y Cm’-J

{m) Shw_ﬁb.at__ﬂle_kolnfs (}' o), ( 2, 5) GM
ore. the vMetbiﬁL_QAﬂﬂ—m&L&fﬁut%

(> A clos mfiamuﬂaﬂu bou _Aas innes. dimensione

90 cm by BoOwm E&JLMMQEJLL%EQL%_
ahrl ‘H\a aAnfa &/ '/'m-fmj/ neealeaL f;Q Line

it Innek Sun[ace. /ths 50Yo00 crm3 7
38200 cm? _J




bg Lrnss —ynlzfm"}yjjraﬁon me.the
36—33-7::0/. 3x~3y =)5 [Ans. =Y 1
g o g=-1J
i) Find the value of ‘x’
() a9 x = 2 [Ans. x=16]
Jeu 3
(L) !&935@'00@ =>¢ [Ans. > = —3]
o ; : AN Aigil NUmbp-2 ) evVen time NE V9%
Q'ﬁi ‘ ,A,’ NUYYIDE vl‘. A4¥=28 " = -(‘ 9
the digits is 18 Jess than the orjginal =
numbes.. FAnd the numbes.. [Ans Y2 ]
{\Ti) (agrupata +the. a?rpaf,__xzéLﬂ;_qual,u[aie_taﬁ_ﬂ_B_CL
in which £A=90", AR =30em , BC =Y2cen,

D =20cm  and DA = 14cm [Am. 53‘6(;mf']_

(i) A cube llem edae i3 immersed comble tel

d Ay
in a wortan&uﬂah vessed containing wates .

If the. dimensions of the base dgvé tho
vessel aso I15cmx 1zem, find. the Suse in

the. wados ,ﬁevel in centimeters correct 1o

2 decimal PMCPL_QMQ%__Mt__&&_MA\
[

suos flouns . [Ans. 7.39cp7

(i) I%. sind =15 ard cosd =1, Livd the wilus
- =

Qé tam® —tan & [Ans. 2-/3]
|+ tomQ tamd




() Tnh the admma f—;aurp_ -
DApe G AAGZDR ano. / \
pmuﬂa{?r@L #%amfm . L I/ \
Fmo( the (.emmbmjoi &f X " a\ o] /a i
the point ¢ andd 3D\ [ /Go
__m)'lpyp A{:3,0>/ B/\B,. o/\ \ /:D

ano

Qyen - V.
[ 2%

[Am. cl,33) , D co/—sfgﬂ

)ii) U<e arabh rﬂnr f/'m 9(18.!‘190/1‘

.:DYOIJ)- n UAJ_clLofmm nyml !YPFILQM%__@%%_AAL
&n :azne‘_aqmyn

mfm%hﬁ&uuazaer | £50-950 950-1050 1050 -1150 1[50-{z250

May ke obitived

[250-L350
N of workers | 35 45 75 5o Yo
| Gueckons

(37) Find median &y the. 9[0%(.01}19 dala
Variate | 23 26 20 30 280 25 .48 44
ﬁreguemw Y é 13 5 Iy 8 9

Cﬂns.2/-5'7
[ Use amlph (ﬂw‘ this aue_r/mn ehall .

C,UM&\ OQu/e_
O0-lo lo-20 2p-30 3o5- ‘/o Un -50 50-4n

Ng. obf ctuolents

y

lo

1

8

5

+

i)

v

Sin* 34+ sin" 56" +24an 18 kan?o" — cat *3p°

fonc o]




